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EFES K4 hr $R PE EAR: izt
1 763 st Ez h7h7 5ha% P2 4 5@k 200m
1 762 A%  8h hp Emy P2 482754 100m
1 762 A% 8A hp° ERy P2 432754 200m
1 742 O Kt ¥99°F 442 X2 4 BixkE 100m
1 742 #FO Kt ¥99°F 442 x=Z 4 BixkE 200m
1 753 K 18E AR ¥ 197 P2 4 BEk 200m
1 753 K BE ARF 19 P = 4 BHER 400m
1 761 FE#E E# Yttt P2 4 BEk 100m
1 752 RE ME V& P2 4 BikE 100m
1 752 RE HE 3 hREa P2 482754 100m
1 746 =H F— SRS P2 4 BEk 400m
1 765 &1L (5 hHee 3947 P2 3 HikE 100m
1 765 €1l [k Y 394 PN 3 BXKE 200m
1 164 Bi5 R¥ by 3VTH P2 3 BEk 50m
1 773 LBE B% 8 w7 P2 3 Bl 200m
1 768 BAR HEX THE F44 x=Z 2 BHEE 50m
1 768 BIH HEX THE H45 P2 2 5@k 100m
1 M &8 K# 17 474y 2 ¥ 2 BHR 50m
1 172 tk R K&K 5 shtn P2 2 AAARL— 200m
1 172 ER KEK HE 4pLo P2 2 BAA KL— 400m
1 147 FiE E5 71+ b P2 1 EKE 200m
2 769 Ak EK WY P2 3 HKE 100m
2 769 i EX wh Y pN:2 3 HikE 200m
2 154 FIE& KA 4hv 1% N2 3 BkE 100m
2 154 FIE KA 4h9v 1% PN 3 BkE 200m
2 49 BR & YRV /Y3 pN:2 3 BEk 200m
2 49 AR & PEIONNAN P2 3 BEk 400m
2 739 WAFESH YRR W3 pN:2 SEAARL— 200m
2 739 WAFESH YRR W3 pN:2 SEAARL— 400m
2 740 |UEH thF w1 PN 2 \32254 200m
2 144 K#FIEY F11) vy N2 1 BBl 50m
2 144 K#FIFEY Z Tty v93 N 1182754 100m
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1 821 #A@ X& V8 Sy P2 4 5@k 200m
1 821 @ X&E A Ay P2 41853254 200m
1 822 L@ #H— w8t anq¥ P2 4 B 200m
1 822 L@ #H— w8 anq¥ P2 4 B 400m
1 795 b ZE 1rh° 3 N4 P2 3 FkE 200m
1 197 XE E® Yy 79y P2 3NET54 200m
1 780 A thE ¥Eb a92F pNES 3 EkE 100m
1 780 A thE ¥Eb a92F X2 3 BXKE 200m
1 82 wE A v P2 3 EkE 100m
1 187 Ik EX N Yy 873 P2 SEAARKL— 200m
1 788 EF  EERA #9435 YAtn x=Z 3 BHE 200m
1 788 EF  EERA #9435 YAtn X2 3 BHE 400m
1 776 Ety IEFE YE XY W P2 3 EkE 200m
1 807 Ell B NV P2 3NET54 100m
1 807 =i EHE NV P2 3NET54 200m
1 189 kx&E\E —th 3y hr Y XE SEAARFL— 200m
1 789 k& —th TH Ay ¥ P2 SEAAKRL— 400m
1 784 —FEEAER Z/t% Ya9hng P2 3 BHk 1500m
1 815 #i ¥ Y+ 4hen XE 3 BB 50m
1 817 HfL AKX 1'A{ 198 N 2 BHE 1500m
1 192 fE”RK % i+ 317 P2 2 BikE 100m
1 192 fE”RK % #3117 XE 2 BikE 200m
1 794 BF RE Y54 tn1¥ P2 2 EikE 100m
1 19 B# RE Y34 tna% P2 2 FEkE 200m
1 806 EO mth 59 F Yar P2 2 BAA KL— 400m
1 791 A #5s IYES 1271 RE 2 N3254 100m
1 826 X% &2 Tt/ 4ha% N 1TEAARL— 200m
1 808 fE RX hay" 7R P2 1 EkE 100m
1 793 E# M bt WHR pN:2 1T EAAFL— 400m
1 783 K Rt Brth 5% PN 1 BBl 100m
1 800 M HZ hat Iy pN:2 1 BB 400m
1 800 M HWZ— hEnt 14y’ pN:2 1 BB 1500m
1 803 ¥k FHah WL avkn p = 1 BkE 100m
1 803 #k H5h WL avkn XZ 1 k& 200m
1 820 ¥k HzZ ) hha% P2 1 BB 100m
2 81 kX BE Tht v P2 4 BikE 200m
2 781 k¥ BE Tht Ah RE 4 BAAARL— 200m
2 798 #H x£F YA 3h P2 488254 100m
2 798 #EH EF M 3 P2 488254 200m
2 779 KB XREBE tth 7hY R INRTSA 200m
2 811 Ja  fEs B9 F hty pN:2 3 EkE 100m
2 811 o fE# B9 F hty P2 3 EkE 200m
2 805 fgth I 79F 113 pN: 3 BEF 50m
2 805 fEtth 3% 70F 13 P2 3 BEk 100m
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2 814 ZE& HF 74 193 x=Z 2 BHEE 50m
2 823 JII& AY 7YY 1Y PN 2 BB 100m
2 823 I =AY h79Y 1Y NS 2 BHE 200m
2 801 #5AK AT YYSE N pNES 2 BikE 100m
2 801 &K AT ARF Y PN 2 BikE 200m
2 177 & HF Ny o3 X2 2 BAAFRL— 200m
2 177 & BT N3 x=Z 2 BAA FL— 400m
2 804 HH W& EPZ I £ X2 2\2754 100m
2 196 JIKRTEDH A7Ed 193 x=Z 1 BBk 200m
2 7196 JIKRTEDH A7Ed 1932 x=Z 1 BBk 400m
2 816 i #=E why 1y P = 1 BBk 50m
2 816 ik #=E why 1y pN= 1 Bl 100m
2 819 % mhE /) I4h X2 1 BBk 400m
2 819 S8 BREE /) I P2 1 BEHFE 800m
2 799 AKT O LT TYh x=Z 1 EkE 200m
2 799 % En LT TYh XE 1TEAARFL— 200m
2 809 #f LEFEt hh3 ¥ X2 1 BEE 200m
2 809 #f LEFEt hh3 Y)Y X2 1 BEE 400m
2 812 WK R YE 73 XE 112754 100m
2 812 ILAX RER e $3 X2 1 1N\22754 200m
2 824 EEHWH Th3¥ 713 pN= 1 BH 800m
49004  EILK
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1 826 FE E#k hath v pN= 4 BikE 100m
1 826 K Hak hath Uy = 4 BxE 200m
49005 BEHK
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1 827 HHPE AR 4h hvy oY PN 1 BBk 50m
49006  ZHK
BFES KA ht 2R FHE ER: FisEs
1 828 ik EF VIR £ N 3 NE 54 100m
1 828 ik HEE Wb g 74 pN: 3INEI54 200m
49007 FREZFKR
BFES KA ht 2R FHE ER: FisEs
2 832 At s Y 35974 #11) PN 3 EkE 100m
2 832 s Y 0% #1y R# 3 EikE 200m
2 829 EHFEER %) IF: PN 1 BikE 100m
2 829 EHERE ¥/ 313 = 1 HkE 200m
49010  IKEX
BFES KA ht 2R FHE ER: FisEs
2 839 1TE/N\FHR H 0 +#3 PN 2 FjkE 100m
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BFEES K4 hF FR FE ER: izt
1 840 1L m= A AT pyat = 2 BikE 200m
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2 841 KRB HEF ThY b pNE 4 BER 200m
49015 EIRXK
BFEES K4 hF FR FE ER: izt
1 847 EEE W& VTN pNE 4 BEkE 100m
1 844 h— ZH WAF 94 PN SEAARL— 200m
1 844 h— ZH WAF 448 PN SEAARL— 400m
2 848 BEFH REL 7Y 4 %3 pNE 1 HkE 100m
2 848 BEH Rt 7Y 4 13 PN 1 &ik&E 200m
49017 E WX
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2 850 JEA UV A& 4 k03 pNE 2 HH 200m
2 850 JEA VA H VLN PN 2 AAARL— 200m
2 849 E# HI% DI TR VIV pNE 2 HH 200m
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EBFEES K4 hF FR FE ER: izt
1 856 /ik  {RE Yy a9y = 1 BEHE 1500m
49064 = EERK
BFES K4 hF FiR FE ER: izt
1 859 #Il Al wvh9 vy pN= 3 BHER 200m
1 859 #)Il Al wvh9 vuy pN= 3 BHR 400m
1 857 EH &4 hoy” hurk XE 2 gEE 50m
1 857 M fH by FuRk pN= 2 BHE 200m
2 858 BH &HF T4 493 PN 3 BEE 200m
49073 ELTEEX
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1 860 EM K& Y g b % — 0 BHEf 100m
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